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uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- lkeUrokn ls vki D;k le>rs gSa \ blds iru ds dkj.kksa dh 

foospuk dhft,A 

What do you understand by feudalism ? Discuss the 

causes of its downfall. 
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vFkokvFkokvFkokvFkok    
(Or) 

/keZlq/kkj vkUnksyu ds dkj.kksa ,oa ifj.kkeksa dks le>kb;sA 

Explain the causes and results of Reformation Movement. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- ;wjksi esa jk”Vªh; jkT;ksa ds mn; ds dkj.kksa dk o.kZu dhft,A 

Describe the causes of the rise of national states in 

Europe. 

vFkokvFkokvFkokvFkok    
(Or) 

iksyS.M foHkktu ds dkj.kksa ,oa ifj.kkeksa ij izdk’k Mkfy,A 

Throw light on the causes and results of the partition of 

Poland. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- okf.kT;okn ls vki D;k le>rs gSa \ okf.kT;okn ds mn; ds 
dkj.k le>kb;sA 

What do you understand by Mercantilism ? Explain the 

causes of the rise of Mercantilism. 

vFkokvFkokvFkokvFkok    
(Or) 

vkS|ksfxd Økafr loZizFke baXyS.M esa D;ksa gqbZ \ vU; ;wjksih; 
ns’kksa esa blds izlkj dk o.kZu dhft,A 

Why did the Industrial Revolution firstly begin in 

England ? Describe the expansion of revolution in other 

European countries. 
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bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- baXyS.M dh oSHkoiw.kZ Økafr dh ?kVukvksa dks fyf[k, rFkk blds 
egŸo ,oa izHkko dh leh{kk dhft,A 

Write the events of Glorious Revolution of England and 

examine the effects and significance of the revolution. 

vFkokvFkokvFkokvFkok    

(Or) 

Øseyhu ds ‘kklu dh leh{kk dhft,A 

Evaluate the regime of the Cremlin. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- vesfjdk ds Lok/khurk laxzke esa v¡xzstksa dh ijkt; ds dkj.kksa dk 
o.kZu dhft,A 

Describe the causes of British failure in American War of 

Independence. 

vFkokvFkokvFkokvFkok    

(Or) 

Ýkal dh jkT; Økafr ds lkekftd ,oa vkfFkZd dkj.kksa dk o.kZu 
dhft,A 

Discuss the social and economical causes of the French 

Revolution. 
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